
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

8854, 4 × 0.01 = ________ 9668, 4 × 0.1 = ________

6703, 6 × 0.0001 = ________ 2300, 4 × 0.001 = ________

2079, 8 × 0.001 = ________ 3411, 8 × 0.001 = ________

4447, 4 × 0.01 = ________ 7563, 3 × 0.001 = ________

5004, 2 × 0.01 = ________ 8812, 1 × 0.0001 = ________

3280, 3 × 0.0001 = ________ 2119, 1 × 0.01 = ________

8487, 6 × 0.0001 = ________ 2638, 5 × 0.001 = ________

5226, 8 × 0.1 = ________ 8185, 5 × 0.0001 = ________

2311, 7 × 0.001 = ________ 6809 × 0.01 = ________

4470 × 0.001 = ________ 8136, 6 × 0.01 = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

8854, 4 × 0.01 = 88.544 9668, 4 × 0.1 = 966.84

6703, 6 × 0.0001 = 0.67036 2300, 4 × 0.001 = 2.3004

2079, 8 × 0.001 = 2.0798 3411, 8 × 0.001 = 3.4118

4447, 4 × 0.01 = 44.474 7563, 3 × 0.001 = 7.5633

5004, 2 × 0.01 = 50.042 8812, 1 × 0.0001 = 0.88121

3280, 3 × 0.0001 = 0.32803 2119, 1 × 0.01 = 21.191

8487, 6 × 0.0001 = 0.84876 2638, 5 × 0.001 = 2.6385

5226, 8 × 0.1 = 522.68 8185, 5 × 0.0001 = 0.81855

2311, 7 × 0.001 = 2.3117 6809 × 0.01 = 68.09

4470 × 0.001 = 4.47 8136, 6 × 0.01 = 81.366
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